Arm Assembly

Arm shown
with

retractable

Jjoystick mount

Right Arm Assembly

Arm shown 2

without

retractable
joystick mount

Left Arm Assembly



Arm Assembly

Item
Number

Note

Part Number

Description

Quantity Per

Package | Assembly

1

1

W NN P

(&)

>

1099748-NLA

1099749

1099747-NLA
1099751-NLA
1099750-NLA
1099746-NLA

1088768-NLA
1088769-NLA
1099769-NLA

NLA - Pad, Arm with Arm Tube Sleeve and
Retractable Joystick Mount - Right
Pad, Arm w/ Arm Tube Sleeve and Retractable
Joystick Mount - Left
NLA - Pad, Arm w/ Arm Tube Sleeve - Right/Left
NLA - Arm Assembly without Arm Pad - Right
NLA - Arm Assembly without Arm Pad - Left
NLA - Arm Hardware Package (Pair)
Includes:

4 ea. Screw, Nylok Socket (M8 x 1.25 x 8)

2 ea. Screw, Phillips Head (M8 x 1.25 x 40)

4 ea. Locknut (M8 x 1.25 x 13)

2 ea. Screw, Phillips Head (M8 x 1.25 x 32)

2 ea. Washer, Spring (M8 x 13)

2 ea. Nut (M8 x 1.25 x 13)

2 ea. Screw, Hex Head Cap (M8 x 1.25 x 35)

NLA - Knob, Lower Arm Tightening
NLA - Knob, Upper Arm Tightening

NLA - Hardware, Connecting Pin Retractable
Joystick Mount
Includes:
5 ea. Connecting Pin
5 ea. Chain
5 ea. Cable Tie

1 1

1 1

N R R
N R R

-
-

NOTE: A - Width adjustment.
B - Depth adjustment.




